59 16 9

1-044
o
1
1
1 FBG
FBG
SM490A 12mm 1
FBG
980kN sin 0.1 10Hz
1 150MPa 2 190MPa FBG 52.4Hz
1 FBG
50mm FBG 2
15mm FBG
1 1 1000000 2 675000
1 1023000 2 705000 1
2
2 1 3 2 2(c) 3(c)
P 700 R P 700 R
FBG sensor 50 FBG sensor 5
A _\I ’ ~ \#. [
15] L — ¢ 150 o
504 80 y 2+ o= 80
A A +i5 =
15 i 151 j
Strain gauge

Strain gau e—/- 8
gaug 4 i 4 8 Iilz

Unit : mm

—»|
=
—»|

)i

(b) 2

(b) 2

FBG
441-8580 1-1 TEL 0532-44-6849

-87-



1-044 59 16 9
900 £ () 900 6000.£ (4520)
—N=0
600 600 60001 N = 600000
4000
300 300
2000
0 0 I L L Ol— =
0 20 40 ¢ (sec) 60 9.0 9.5 10.0 10.5 f (Hz)]‘l 0
(b) N =600000 (©
2 1
e(usec
12000 {pisec)
1200 L
———N =600000
8000 N = 705000
800 |
400 40001
0 \ \ \ -200 . . . 0 — -
0 20 40 ¢ (sec) 60 0 20 40 ¢ (sec) 60 9.0 9.5 10.0 10.5 f (Hz)ll‘o
(@ N =600000 (b) N=705000 O]
3 2
a00 £ 1300 £ 1400 £
| — | 1200~
800 - 1200 -
L L 1000
700 - . 1100 |-
Strain gauge Strain gauge 800 ——°— 500000
[ FBG sensor FBG sensor —t gggggg
600 | | | | 1000 | | | | 600 I I I T
2 4 6 8 10 12 0 2 4 6 8 10 20 30 40 50 60 70
() 1 N x10° (b) 2 N x10° Y (mm)
4 FBG 5 2
10.07Hz 10Hz 1%
4 N FBG 4(a) 600000
FBG
4(b)
500000 100 p
5 2 1(b) Y=15
FBG FBG (N=500000)
FBG
FBG 1)
1%
@
1) 2001.

-88-



